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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

0-

With the pace of life in Indian metros getting faster by the day, many of the old Indian
traditions have fallen into --—-—--- and are no longer practiced.

1) indifference 2) equilibrium 3) abeyance 4) annoyance

We thought he was reliable till we realized that he had given us a ------— address.

1) dishonest 2) fake 3) skeptical 4} vulnerahle

His expression was gloomy at every game; | don’t think 1 saw him smile even when his
team ---—----- a hundred points,

1) scored 2) connected 3) achieved 4) displayed

The approaching rain gave us a -----—--- excuse to escape the boring party.

1) harmless 2) monotonous 3) secret 4) plausible

The relationship between the earthworm and the garden is -———-- : the garden provides

a home for the earthworm, while the earthworm provides manure for the garden and
keeps it fertile.

1} impractical 2) symbiotic 3) latent 4) paradoxical

When it was discovered that he had been operating as a spy, he was badly ---——- in the
press as being a traitor.

1) incorporated 2) censured 3) concerned 4) constrained
Contemporary research into the origins of DelLong culture indicates that a hunter-
gatherer society was established about 2,000 years earlier than was -----—- thought.

1) similarly 2) sufficiently 3) previously 4) accurately

An attempt was made to ignore this brilliant and irregular book, but in ———--- i it was
read all over Europe,

1) jeopardy 2) chaos 3) contempt 4} vain

He strictly warned him that if he did not take the medicine in time, the pain would not

1) subside 2) degrade 3) avoid 4) collapse

To reduce ——--—-- , the company will no longer mail monthly paper statements to those
with access to online statements.

1) fright 2} hesitation 3) conflict 4) waste

PART B: Clozc Passage

Directions: Read the following passage and decide which choice (1), (2), {3), or {4) best fits each
space. Then mark the correct choice on your answer sheet.

Becoming a mother is a major transition, points out clinical psychologist Ann
Dunnewold. (11) --=-=----- in Dallas. Tex.. provides support for mothers. New mothers
give up autonomy, sleep and relationships (12) ----—------ to the relentless needs of a baby,
On top of that. they are also expected to be in a constant state of bliss and fulfillment
(13) -=-----—-- their new role. “There’s a lot of pressure to be the perfect mother,
(14) ----mmmm- they re not coping.” Leahy-Warren says.
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Making matters worse, research that demonstrates the importance of early childhood

experiences in determining future success and happiness (15) ---------- on moms to get
it right.
11- 1) practices 2) whose practice  3) practicing 4) she practices
12- 1) with tending 2y tend 3) to tend 4} that tend
13- 1)of 2) by 3)in 4) with
14- 1) and they are afraid to say 2) while afraid to say
3) but they say they are afraid of what  4) then they say afraid they are
15- 1) and additional pressure 2) add pressure
3) puts additional pressure 4) and added pressure

Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or{4). Then mark the correct choice on vour answer sheel.

PASSAGE 1:

One of the primary ways of approaching the Greek theatre is through archeology. the
svstematic study of material remains such as architecture. inscriptions, sculpture, vase
painting, and other forms of decorative art. Serious on-site excavations began in Greece
around 1870, but W. Derpfeld did not begin the first extensive study of the Theatre of
Dionysus until 1886. Since that time, more than 167 other Greek theatres have been
identified and many of them have been excavated. Nevertheless, they still do not permit
us to describe the precise appearance of the skene (illustrations printed in books are
conjectural reconstructions). since many pieces are irrevocably lost because the
buildings in later periods became sources of stone for other projects and what remains
is usually broken and scattered. That most of the buildings were remodeled many times
has created great problems for those seeking to date the successive versions. Despite
these drawbacks. archeology provides the most concrete evidence we have about the
theatre structures of ancient Greece. But, if they have told us much, archeologists have
not completed their work. and many sites have scarcely been touched.

Perhaps the most controversial use of archeological evidence in theatre history 1s
vase paintings, thousands of which have survived from ancient Greece (Most of those
used by theatre scholars are reproduced in Margarete Biebers The History of the Greek
and Roman Theatre.) Depicting scenes from mythology and daily life, the vases are the
most graphic pictorial evidence we have. But they are also easy to misinterpret. Some
scholars have considered any vase that depicts a subject treated in a surviving drama or
any scene showing masks, flute players. or ceremonials to be valid evidence of theatrical
practice. This is a highly questionable assumption, since the Greeks made widespread
use of masks, dances, and music outside the theatre and since the myths on which
dramatists drew were known to everyone, including vase painters. who might well
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18-

19-

depict the same subjects as dramatists without being indebted to them. Those vases
showing scenes unquestionably theatrical are few in number.

According to paragraph 1, why is it impossible to identify the time period for theaters in

Greece?

1) It is confusing because stones from early sites were used to build later structures.

2) Because it is very difficult to date the concrete that was used in construction during
early periods.

3) The archeologists from earlier periods were not careful, and many artifacts were
broken.

4) There are very few sites that have been excavated and there is very little information
collected about them.

What can be inferred from paragraph 1 about the skene in theatre history?

1) Drawings in books are the only accurate visual records.

2) It was not identified or studied until the early 1800s.

3) Not enough evidence is available to make a precise model.

4) Archeologists have excavated a large number of them.

The word “them”™ in paragraph 2 refers to -————---——,

1) subjects 2) painters 3) the Greeks 4) dramatists

In paragraph 2, the author explains that all vases with paintings of masks or musicians

may not be evidence of theatrical subjects by —---—--—-——-—-,

1) identifving some of the vases as reproductions that were painted vears after the
original

2) arguing that subjects could have been used by artists without reference to a drama

3) casting doubt on the qualifications of the scholars who produced the vases as evidence

4) pointing out that there are very few vases that have survived from the time of early
dramas

Which of the following statements most accurately reflects the author’s opinion about

vase paintings?

1) There is disagreement among scholars regarding vase paintings.

2) The details in vase paintings are not obvious because of their age.

3) The sources for vase paintings are clear because of the images on them.

4) Evidence from written documents is older than evidence from vase paintings.

PASSAGE 2:

Iron came from West Asia, although its routes of diffusion were somewhat different
than those of agriculture. Most of Africa presents a curious case in which societies
moved directly from a technology of stone to iron without passing through the
intermediate stage of copper or bronze metallurgy. although some early copper working
sites have been found in West Africa. Knowledge of iron making penetrated into the
forests and savannahs of West Africa at roughly the same time that iron making was
reaching Europe. Evidence of iron making has been found in Nigeria, Ghana, and Mali.

This technological shift caused profound changes in the complexity of African
societies. Iron represented power. In West Africa the blacksmith who made tools and
weapons had an important place in society, often with special religious powers and
functions. Iron hoes, which made the land more productive, and iron weapons, which
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21-

22-

made the warrior more powerful had symbolic meanings, in a number of West African
societies., Those who knew the secrets of making iron gained ritual and sometimes
political power,

Unlike in the Americas. where metallurey was a very late and limited development,
Africans had iron from a relativelv early date. developing ingenious furnaces to produce

the high heat needed for production and to control the amount of air that reached the
carbon and Iron ore necessary for making iron. Much of Africa moved right into the Iron

Age, taking the basic technology and adapting it to local conditions and resources.

The diffusion of agriculture and later of iron was accompanied by a great movement
of people who may have carried these innovations. These people probably originated in
eastern Nigeria. Their migration may have been set in motion by an increase in
population caused by a movement of peoples fleeing the desiceation, or dryving up, of
the Sahara. They spoke a language, proto-Bantu ("bantu" means "the people”), which is
the parent tongue of a large number of Bantu languages still spoken throughout sub-
Saharan Africa. Why and how these people spread out into central and southern Africa
remains a mystery, but archaeologists believe that their iron weapons allowed them to
conquer their hunting-gathering opponents, who still used stone implements. Still, the
process is uncertain, and peaceful migration—or simply rapid demographic growth—
may have also caused the Bantu explosion.

Which function does paragraph 1 serve in the organization of the passage as a whole?

1) [t contrasts the development of iron technology in West Asia and West Alrica.

2) It discusses a non-agricultural contribution to Africa from Asia.

3) It compares the rates at which iron technology developed in different parts of Africa.

4) It introduces evidence that a knowledge of copper working reached Africa and Europe
at the same lime.

According to paragraph 2, which of the following was NOT a social effect of the new metal

technology in Africa?

1) Weapons were made of iron.

2) Iron making was more than a skill.

3) The number of blacksmiths increased.

4) The new metal technology affected agriculture.

The word "ritual" in paragraph 2 is closest in meaning to --—--——----- -

1) ceremonial 2) military 3) physical 4) permanent

Which of the sentences below best expresses the essential information in the underlined

sentence in paragraph 37

1) Iron making developed earlier in Africa than in the Americas because of the ready
availability of carbon iron ore.

2) Both Africa and the Americas developed the capacity for making iron early, but
African metallurgy developed at a slower rate.

3) While American iron makers developed the latest furnaces, African iron makers
continued using earlier techniques.

4) Africans produced iron much earlier than Americans. inventing technologically
sophisticated heating systems.
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26-

27-

28-

Paragraph 4 mentions all of the following as possible causes of the Bantu explosion
EXCEPT -----emeeemeem !

1) superior weapons 2) better hunting skills
3) peaceful migration 4) increased population
PASSAGE 3:

As many as one thousand vears ago in the Southwest, the Hopi and Zuni Indians of
North America were building with adobe—sun-baked brick plastered with mud, Their
homes looked remarkably like modern apartment houses. Some were four stories high
and contained quarters for perhaps a thousand people, along with storerooms for grain
and other goods. These buildings were usually put up against cliffs, both to make
construction easier and for defense against enemies. They were really villages in
themselves. as later Spanish explorers must have realized since they called them
"pueblos” which is Spanish for towns.

The people of the pueblos raised what are called "the three sisters"— corn, beans, and
squash. They made excellent pottery and wove marvelous baskets, some so fine that
they could hold water. The Southwest has always been a dry country, where water is
scarce. The Hopi and Zuni brought water from streams to their fields and gardens
through irrigation ditches. Water was so important that it played a major role in their
religion. They developed elaborate ceremonies and religious rituals to bring rain.

The way of life of less-settled groups was simpler and more strongly influenced by
nature. Small tribes such as the Shoshone and Ute wandered the dry and mountainous
lands between the Rocky Mountains and the Pacific Ocean. They gathered seeds and
hunted small animals such as rabbits and snakes. In the Far North the ancestors of today's
Inuit hunted seals. walruses, and the great whales. They lived right on the frozen seas in
shelters called igloos built of blocks of packed snow. When summer came, they fished
for salmon and hunted the lordly caribou.

What does the passage mainly discuss?

1) Ceremonies and rituals of American Indians

2) The architecture of early American Indian buildings

3) The movement of American Indians across North America

4) The way of life of American Indian tribes in early North America

The word "they" in paragraph 1 refers to —------——- .

1) goods 2y clifts 3) buildings 4) enemies

It can be inferred from the passage that the dwellings of the Hopi and Zuni were

1) very small 2) highly advanced
3) quickly constructed 4) difficult to defend
Which of the following is true about Shoshone and Ute?

1) They hunted caribou.

2) They built their homes with adobe.

3) They did not have many religious ceremonies.

4) They were not as settled as the Hopi and Zuni.
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30-  Which of the following is mentioned by the author as a dwelling place of early North
Americans?
1) Igloos 2) Ditches 3) Log cabins 4) Storerooms

:Mm; ale

Filasnl g mad 5lgl0 Woole 4 Dgenian e e Ghaliulj NSaplay -1

Ql._.l.&_iu_}:.):_-f-:-,ganr:_la(\' JL:LQ.: 23 [EJJ_‘.»J apeia ()

wled b 2 aggle g 0 pie (F adlondo 2 7S 768 o pde (7
Tl saplive LB 505l dd dids alas jo olo 5590 b I ol gyl iiul 90 -TY

el (F ey (¥ pys (¥ Jd Q0
U] cllial plaf s glais 4 ) diei® Y'Y

ala (F LiLe (¥ a3 el (¥ Sl 0
flul iy (83 4g) (S jlaz golyilon B30 03 90 plas —TF

I1 L.,,:n.| )‘a':'.(_l'_'lﬁl a1 IT ‘J.n-| et ..?"’;'lﬁl {h

Tl S 33 oy g0 YU JolST g (6 3 SR (o )l i g gy b BT 53 390 plas YD
g Lo tk__.,f:,..'f: t.:.|f}|.....~|_i ;;ﬁa,f ;LJL-:-L..J.‘:? .}J.:_....a- J“"‘n.'ﬂ":"“ i_.;La)'B'B {
detaz o wlf by et plemdigi s bl g gl b psa sla YU AT
S 5 3l b3 Sl s s plin 3 gl 155t sla VG (T
Ly SR LI R +."4|3"JL.41._: r.;,.lnl,:-; ke e Slelil sglis o e ola WE (¥
plas oyl dali b Loy T S pideo o Sy 3 (il low slojp0 51 g mt 10 Slo & Wgunio dbgora g TP
Tl
S 5 loaiidy slod bt (M Sgppn i g 4 B ()
S e et gdianld glaeld o clie DL Ele WSS g as AJI(Y
sddgaidl olf 5, 25,0 ouiity colod iliin M e g Al g a8 B (Y
IS5 U5y (5o 5 15 o gazssls (slaolf 8 ilin 3 wSyugn 1 5 a3 1 (F
Tl ot yof aald ol T i a1 L ds B L0 jaa plald Y'Y
Lh,l_g}_g..bi alos (Y
Loy b CoegSs el o (Y
leole slazr! plls 3lyy 5 OF
Frete il 008 IS5 g o laSle 0 aE tal (F
il a3 (45 (o) il 1 Mg s sloma Ly b byl )3 8,90 ol —FA
ek |5|..n...1..._._....._»1r .{_.;J|3,.1.:- I_;_;Lnu'}..._._; wsladigd JL:J .d_';;"nﬂuj el s olF s ()
S5 ko slo 558,05 1 g2 ot o g zelB (slaolS > (F
5 (glo BF amlle  ndan (gloy s ead gl (claels s (T
el glo o .,._g’d..inﬁ Jhad wazs, 98 B L :rlf_,.:l A1



M dmio 408F uﬂlﬂghﬂh

il o Gl a5l g (g lone LT L Ll )3 3 90 plas

A g gl o ekl las b dis Sy 2is clla (O

ilye i Ll e sbla (Y

sgoe jhaz L glaals SLLE (T

213 ] dons K SLlE CF

Tl o ;30 Gl i b ) 33 3530 plas”

izl T o) e Llgl BT G pma [ aids ()

ol § o gz 3l 5,1 0 yma I aido (¥

el gyl Y s B0 g 35 e 4 (T

e TIT 50T s 530 1 61 iy T aido (F

ol Jloj dz 4 by o oliwl (] g 20y 5l yge oLl (glaime w3550 plas

Pd sy (8 ped deni - pae b ()

P e (8 gl dess - pma e JULT ol (Y

Pl e D% g0 deni = Bl 53 abliga ealyils (g log Shlalas (T

el e O Jsl des = (bl 0 $8ipe 03lpls (gl D0Lslas (F

ol 0392 o pluS 3 b2 po Juol 50 0,50 opl g 0ud Sl oo plaf 51 alaws S 31 g 510 0 5
ougiseld dna - Aed (T s dena = b (4
S - dtar 5 (¥ el dama = gl (T

U o0 00D b g9l Wi e 50 g 510 il ouel Cewdd Ao 48

g (¥ S

Sl (F A (T

a3 ly oo o135 1 Sl 3 s 58

a5 (Y Sapib O

L:.E-_‘}'.'.E“"IJ (¥ s {r

sl | plicielies 690 | o S, IS o i as L 0 g0 plas

S shaaied JIS0! (Y losyg; ()

U5 e died by S5 (F S glalY glaanls (¥

Ol sl oL alaS & by ge o) el s iz i (sl Sl

sl Llas — gl fale — g 08 (¥ Jal el = olillis — ol g ls O
Jil ayls = 4z geaS — g8 (F Fad Gpgle = gl ety = el bles (7

Gl oy 318 Ly oL 31 Sl b BLS )1 58 (b3 sy
U Pas phd )0 gy SaeT (gl 5 5090 sled po wily Slgrl g digis Yo UL e YEXFY slal ay ol
R sl bogjls,e slo (¥ o B lansie YEQ

P25 L polazsl 215 (F S5 L ple )l 715 (7

4

¥

-FY

“FY

~FF

¥a

-t5

-Fv



4 dsio 408F uﬂlﬂgbﬂh

el A1 ad yiay il g o 03130 «pgins vham YU shdias iy (LT (lalis 18 iy —FA
ol tanss = o8 LLES — A LES — 9 A JA TN
ol blas — Jgl Ghgjle — gl b)) — pga g o (¥
o i)l = Jol e gla — eld Llas — pga e ls (T
p3o g ls — alibles — ol ot l = gl sl (F
Tl IS i iy i oLl Sl ) 9 (] Sl gime 00 Ly i ALS Jme A
pod Vo Jlu g el o0 Byl — pad Slaler — a6 B ()
8D S gl b P o8 alyl — il sl — s IS glma (Y
2 F o8 ey BB 5 e desi— gand clalyr — B (K848 gl (T
T R S B R S el SRl T A e s
Tl plaf soctel sty (36 45 gl SEW (s)lens i pais o it -0
I3 Jb el Stisl (F R RO ekl gl (1 ey

: g‘L—nLﬂj oyl

P! LS Jlio % -O)
(Slws) S ands fasby ()
oot s (T
o s (Y

Jbaiz aas (F

sl B 155 g e o o 1A 3 glash pou gy 4y b —BY

SIS - s ST by (Y SBE - g ST- (2L e ()

seally - ol Srara - SO (F seolly - SRE - S s e (F
ol Ja JI5 slpancs sl g ggog0 0390 plos’ AT

5oee pye i | g ol Sl ) Loy O

s P gl oo 1 G0 (e Slplo a0 bog s (7

$0s 92 oo 3l 5 i el @ (T 4 g e (T

EWs pgew b JET 0 IS B 0lials 4y Lagype (F

. - ' Flal a3 ALS oo olaf j blic geki —OF
"‘%’f’g % % Jszz Ji5 @
R. ¥

; T,
K o o
@'% :LKEJ {}fﬁ;‘\ e (T
a : P '-\__'j ﬁ)ﬁf 83 (f



Ve domds 408F uﬂlﬂghﬂh

sl g 1 a8 g Sl )90 Lol (0 s 1390 o105

3= Al pajlies S e Lo (7 plpl dne - gt 15 es ()

3551 S Pl 8- e S e (F bl e 28— o (Y

o foanal 80 bl abogme 21 5] ilis (¢ € 7~ )b
G e, X ”

¥ %iwm Y Sl asl (¥

e aslgs agF (F

Tud gl 518 abgma pIa 38 cod s g i (50 oo 3 Pl 9T i (e (5158 1 ) 5T

23— 'jﬁull i J'.!":"] (¥ JS)‘ - .13":*1 = .13":*1 0

s = gl = I (¥ il = Sgl = jgal Y

ol ool Cowday ol £ 9 4 aundgy 4

&lo pas (¥ Aegaa il (4

S Sl (F b glead (T

fial odal oty Jlig s & ailipl Jline absgmo plas 4o

ol aals (¥ e A ()

S ¥ (¥ JBae Ju oy

Pl o A a5 alacio £13 393 i U1

24 S sl (T (ydde jaisial ()

Jol als 3 (F Vs S L CYR DY 4 o

T 2300 5l gt 33 18 yam ol R §1 6 sled ilwb slioly plas slej 4o

Jil g (Y r3 ol ()

oo ks (F Jal jwla (7

Tl Canliud o Vo b yabd Dlaliomial g 50 o sl ol o b ygae glldl olla pds plaf

5 gt (Y sl (1

iy og (¥ subki gass (7

Fagagn osd pda luliw olidl plaf dr p gl 53 2 )5 Al

pe2 el (F Jsl el O

e~y (F Jsl seeles O

il ol 10 LT oo 43 oud Dgls Lol gLy g )l 3 gan alas

anld F5 (Y il ails (0

sasiil (F g

il Ly s laobas 5590 518 0 (gl 1 55 ) 3

sbljs58 215 (F Sy g5 01

yebios Slay 25 G (F .:Lﬂ_;g.ﬁé s aald (Y

-&b

Ay

-4

-FY

-FY

-F¥



1) amia 408F kit Ly

Fro] I3 o i |l £ ogedao e plas PP

& domma (T - PHESREE S
Sl s (f e Ay (¥
sl sl Cowdts Jore plaf 31 S8 il claglogiul 5V
A5 (Y Sl O
o 5 s (v
- § el Ly a1 &0 Logs yo Jollia o2 —FA
adilili s ()

oad gblab] (7
L et (T

fionl o plaf & Glasa gilejb 2o P4
e B gl e O
Sl 30,3 wls (¥
a5 glal (T
abljemd Juybo (F

ol (bl plof & by Jod o2 Ve
£1,5 ()
Sle (Y
synisl (T
s30 03l (F

: ,-_ﬂ:“'-'ﬂr-ﬂjjﬂ

Vool ouds ans bl g g 4o g 0490 plaf G0 lbgl doees -V
oluds ! lowlas (F lyalos f niloslie (¥ Gaad | Glagel (Y pred g (A
sl )3 () gl s dady DLl g &y a0 50 3 jgm plas’ YT
jp bl po e 33 sleels )l 51 ()
A e 3 (G il 8 o plia (T
Slot el o 2 et o saF e IO
o 0590 15l g g3 Glee slaelSal,l 1 (F
sUgie) g glg e 9 (5 i ()8 gligio) cpllsdedam & padle (B VTTT) o pa jhocne duajia VY
i yls 413 4 plas 5o (oo YYY

*

ag (F Al (T A e (T 78 ,ql ()



1Y acmiie 408F kit Ly

fans go LAy 2 90 plaf gly (Dl (b5 e - VF

(Crelyg) plledle g0 O

(allalis) glégl ol & pia (F

(sl ol e Silaga As) 5, 0 (7
(L5 gk VP es8a,5) ] 20 (F

ol ol Al 090 1ol jo o nlpdeo] pale dom 0 piallone 4 Gy ado YO
ay JU(F ke JT syies (T Fmka ()
kg 3350 8l de 0l asg jead Soad pled jlCblis oly oMl SUMET g5l am 4T Jald dgl YE

fudoss ) ot g s ol 4

weodl glyadi s — Sildce gl8 (Y ) el ad — sasly sols ()

plisi Comlas aseil mame— Slize jails (F sl gl el pdima — U1 Labs -l (T
G lo 1) canlads gyl ilpl sl plaS o Joo U sl WY

2oy arlym acF (Y sgbus gl o (1

Lgles il 4 allae salpalal (F e Dlasi ol o piia (T

Cal d‘n_ué A Ay .h’.u.n 3 ‘!_.'“, ‘_,L....;' Pl..lf = .HLn.L'l.lIu...._.j)n R YA

ol = laila 5 (F iy — le )5 (T Sl — lals (v aspiio = L (1
faigle gl ol gl adde glbasgame j Suplal 1o . ale Fodd olRal )l g lius s ail aid V4
(g) L2, pld o> dzgacma (¥ Jlool st azgazes ()
(&) gz pebiallis o> assoze (F () dogans pam oy asgama (T
Tl 3 ylae plaf Lol Lae g0 ool g aiildd s iy 1) (g jhoms JalSG o330 ais lwdd FIF acgeme - As
bl el e Lidl o 00 a (Y Jal gelis 9 slrlB o 90 g2 (0
gl g anai) dgiho toygs s (F Jol sohe g sl liianaijie oo an (F

Failodis aBlg Lef 4o g sloygo dor o by o cd i b3 slalls A

#ifs Al A jie® g € dannondd donw jds B

il e ygand — 33 g g0 (T Lo g pead — 2 o GBI

dple w5 gead — pledal i ggha (F [ o Glall = Sldal, LT
Tl dhds- 215 3 0393 A SBEL 1 ilall g ol pad AT

Fhollae fpady ails — (g5al 090 (¥ el adels — ol 5593 ()

Slaps on Slallae ails — gaal 5,53 (F doianll adds —  Lale 8 yg0 (F



W oasmin 408F uﬂlﬂghﬂh

iz ougs p bbbl Sl i 5l adginSie cluidl o i 9 Bid ol Codgiume oo jge g Lainmid 4

ol T UL s3ged BAT 1, Lo a5 oulido ool )
ol ) Loy (F i Jlsel oo (F

5

fadlaud las! gladidi az b g o350 do 30 ;o 520l g SULT (keg i amluw

ol 39 SELT 8,93 1ol 2l g OLLT - Jlasl 50 paliia) las 5,98 tag )b ()

Slnl ez o G 5 ye0 rple 2l g bl - el gz o oalis;los 590 riag 8 (F
Sl g Gl se0 ple A - Slal g0 o Semmla Bygs 0LLT 5 sy 3 (7

Sl 30 1 ST B sl 2 - Sl 90 1 oalie; las B0 LS g dag 8 (F

il plaf T a1 iptee 3 Al Silas o 4z 50 3 g pele doress

Sl il ¥ A (Y Sl S Loaf 0

528 Sy g ol Sy AT B F LR ARIC AR Y
F 1o 51,8 5o 4z ;3 30,50 AT & by po i iy 2bT i g dnilonden 392 amil O Jles g LIS
Slow Gl — 7 5 Glel - g5 LB 0

A e~z el - STl ygsha (F

At e~z 5 lel o Sl BB (T

@b wssie —z S el gam gpaa (T

Vil AT i iy o S g 4 o2lo blyy» glalp ;15 8390 9 S

Bl e — 59 Wta w2 (T Jrbog S = saiip wpia Gpi ()
spwilTols ~ itlagiioee (B eslemgfig < ghadaytu b
Bl s il 3 42 30 3 1S 53 9 gllss 42 b gl e

piia cadllals (g I8 SIS (Y pida bl 528 ()

it sl gal s g (8 i sl gl e 555 (F
Pl 83,5 S5 T (g9 7 (ool 42 90590 42 43 b0 (g2 aall T wmes

S 559 sghe OF Sl B 5L )

elbon il e — 8 OF Sge damn - yrdes (F

fligl ool guatna (Sin 5 Jlgol 1090 plaS s )y 1AV yganilyls Bl o
SHF S e et LT O

el slagh (o5 3 Suie slaz b (Y

el (o slacle g o e g oS (7

ke slaolizg, g Sl 5 GRS 5 59 g pale U 4 bgope Jlal (F
il 0590 phat &3 b po sl 2 (B )l el (gl e Aoy (el

olealicg los (F oilelel (Y P YES A ¢ s IO
Yoy gld 42 o> 4 g 4l dils e ) ol Blgls
Tl e — igle o (F b = phig O

cslanls = Jae b (F wgle = gygs (7

~-AY

-AF

-Ad

—AY

—AA

~-AR

9.

-y



VF amie 408F umuuhmh

o9 az ol 15 (gl pli g L jamd iy (sl

gl = S (7 s i = Ll 0

L (g — B (F o 31 = o a5 (T

fa03 5 ol gl (el glab 51 plad 33 o cadlaal (5] 190 30 €5 Sl 0 )5 Ablgls (puinaid
gl deml 2l dcgama (T bl 08 acsama ()

oy cpall e Al A2 gz (F oty e oLl a2 o (T

110 ol azr cokia iy oy ol )5 (bly 51 o, &5 (3T g 05 o0 ) 1 llan (ploe abiold o5 %
agel waguil (F Sguil wagal (T 2351 gl (7 agal wait] {3

Pl oudi o35l ol pl s Floj dx 30 g oMol ks laS 3 b yo 3518 0 )3 1) plo i dy (LIS 230
el — sshe — Sl ()

sl (5y50am — (G000 — uugiles o BlE (Y

ol opallpali — i LS o — mgndgs g Ol (T

o (g jager — i Slils 598 - g g | ol (¥

fol oog lode 090 30 Jlhw ddai 35 30 (0 dindes Joma plas

Syl (Y aills (A

el (¥ adgd (7

LTCU PRV SPCE S TP 1 [FUUNP KL STNPRR (PP S PP PR JORRK PN 3

S — il el (Y 30— et e pllala ()
e = s o g2 B oo (¥ e e = i gl el (T

Tamga iy @ Vo A idygiio 890 (5,5 515 30

il 3 &0 are i By g Gelad SlaalS £y, ()

S eer Jg g Gl b3 4 () (sloasS £, (F
Sl gmesi gy g &b b 4y o) sloaiS gy, (T
St Gy s Sl b e g ) slaa oS £y (F

Tadsgf oo 4z 1) 3 )5 58 9 O puw v pii o o0l b 58 JUT (59 p oy ol Slonsl o g

il (7 ol ol ()

&St (F &S s i (T

Loy i £ai dz oy 855050 o] Jlies @ g po (i g 0ud gl oS ax gl elaadl il e b
fAS 0

axliss Jliw w g el (T plis ) Jli o SLAI ()

Sies g gl Jliow o LA (F b Jliw gl (7

(oledel j2 g Jdo w) dlaliol ay af (g IV Sus 53 ) p Gelaiond dianlils o golips (o it
sl plaf 35 oo alod & gigash pli 1) Gkl ol g 009 g 20 G

b s agys (7 si2938 ales pe ()

e smmallice  fug)o (F Aldf o5 dedew (T

-ay

-a¥

44

45

-4q

You

i



18 axie 408F kit Ly

fadog b s pla  Foads 0590 (slodilinl i (o 5 Jlad --F

&5 9 okl (7 B i
Olbes g lgial (F olieel 5 jgbiad (F
el iy 41 el o il 4o 93 50 45 el 9 3,10 gl e bl 90 45 gl 5 —\oF
Ol - dal (7 Ot = (g8l ()
- jbas (F shdyolen s (Y
el Ll oL j0 slaaSins Ll (F5940,90 a8 —1+d
el g ! el (¥ Al ke ama ()
e R i ol Il e Zjle pmen (T
Tl ol o s (oo JUSDN 9 030w ¢ ity (30 30 (518 oS (i 2] b plS (gl0aSw g9y 3 VP
SlusizE (¥ wp JTO
oblas (F Sl (T
Fag ool (sapes U €Sy lecamar 3 jlora 3 wiigpn o Glaheol 51 ot sans pluS 0 )Y
ol puSo ams (7 Sliel palr daas ()
Glyisl dilaled Fod domes (¥ Sl plel dzes (T

(P ed CaSIlo JUERiT g j9e 9 2939 51 (555 5k 9 (305 E e (sl T ST 4 by po (g gaandlpnS (olsl p 1+ A
b gnd s 95 o0 K b Sl 5 5% 09,5 AT 4 Sam b gl
ilaad S8l s A D ey a5 i B leal ()
willoads il ypiS a Lagyels o a5 Kimjd Jlaal (¥
...L’ulaag.g ._95|3.1 390 d..'1|at._',,| ek Fedga a5 L_;..m)s J|}.¢' Ay
S Al Lo gle o 2 aF ad8 e nS0F glaioed a bas Fiagh [loal (F
Pl sal Lrn'hl.wl I.EL"”JS‘: j'l S plas L.;Lnas...;_ﬂ 23 J.'L-:.I -4+9

sl ol 4 Calada a5 B UL

apady (¥ ay sl (3

4l (F agbo (T
LTS P | @Lnl..:;ahv el cleasfn powi ol -

il Gloleele 4w ail Gl g3 pum g 55 U

".L"J -.:Jl"-‘;'l'"_"_.‘jr {‘I‘ JL..':.jI nl...';'.._il.hl..i- {1|

PLEar] hbwlﬁ] ¥ g ol dmakal (T
oln! g b deite

sl By gl e o 0 (L0033 3 Wabogan 4z b ol b o)l jlinns 30 S gau e Jgl 8590 -1
() aw Fls0590 g (1) 4 olFjlai (¥ (1) g3 o3kl 5 Jgt 5,55 JU ()
(V) ponsy 5,90 olf'5lai g poo 8,50 g1 (F AV) Lo ol 5lai o (1) pgus 890 jlias (T



VP amio 408F umuuhmh

Pl oo oalina! ola gy de 3ol wl pu sl 3 e olive ygo G}H.LHE' el Byle jeba

s piglS glmalogmma cogar g lBiaY (¥ VE o o bl I.EL"‘;..J":L"_ﬂ A ]
Tl sual by ) ! (Sl abogmo plaf 51 45 gLl (alad wnlal (1 i as 03

NUTE T e s ()

ad oy maF (F Creerdlis 4 (¥

Sl 0313 5 (gbo 031 AT 330l 55 30 3515 s 51 g 0 13 g 52T

ln,_g‘l" n;'_‘,.n{'f Fd'? ﬁjlj.lh-{.ll

Pt ole (F pd A oylpe (T

sl 2 by @ y50 plaF @ (g lene b elidle )T S0 wilewl 4 je

atid il elmails v U1 5 glasils ()

jade ol claails (¥ Jode clalls elasils (T

Cl go sladiay dile gl ploi 10 Ryl pio abgome gy <32 ol | B (S 5590 abgona plas
bl a3 (¥ gy as ()

MU S0 { IO A s

ol S ol 635 9 3l )9F ad po il Fu b

g ool sgas (Y g3 OY80 squs ()

P A o)lpm agas (F P ¥ oolpe agus (¥

el sl erl'“"’['-“'“'-:’ u_.'...:.-_h d .‘_'.'.'.&.Eu GL""!-.'!"‘:‘ L] dlﬁdm .Qh’f s agty alof J'1
QY Py ()

Dy (f Voay (f

&y ol ) o g oy glapae) e 3 9 Wlous (Aglf 4F Jlhas o (Siwgd S8 6T (gl abgone e
Sl o

Ol AR 5o Sgnliz g e0jep iy 0 Sigiliz g obies ()

Slles 53 Spiliz g sbl8, 3 gliuges 0 (healiz 5 et (T

Obja o oYl g Saulia e o ol il g bisu o pi anli (7

Olje o ohoedd az g Dol g e )0 deduliar g (o3 0 j18) A5 e (F

Yol ol Gl ol (635 3o Jloud (Songi sl ) i (pSilis 9 (oo Fu )b

fd Y0 s (¥ gg Fleo sgus (4
g Fhoo sgam (F pod OYHO sede (T
Coal plaf lowlydl ddlie Jliw 381 0o 5 e ud

4 3l (Y Ladls as (A

y953 Gl (F A plyis (F

-r

-1y

-1¥

-11d

-W#

-y

-1V A

-4

_\Y.

L



W oamiw 408F e AT

Tl 0390 145 wani s £y yas U LT ol ol (o G 3 9 § 3 Jlous Jliw slo @Sl —TY
s jlod i 38 gl i il oy i B3 (0
ol an Mo g3 Lalts i 38l 5)a8  Mi 38l (¥
Sor (i @l Fige i 3840yl i 831 (Y
T sl i 381 e anta | Jl 8l iadly i 331 (F
(0 g s Lo 93 315 1S s i ol 58 (Sl jly (Vg 1390 ATY
dgdr (Fiwan b wilie Sian )b qeead Sias )l ()
S an bl e Sean b St an )bl sl (Soanl (Y
e a8 sailn | o)l i (Sowan )b o Fowploe qpnd  Faeany )l (F
e bl o Sonple i b (Gl Fowan b il (Fuiis b i b Jlow Sowan )l (F

Tom acil mlay ol ol fu b 5 seas glesl 5l glosg0 do j0 imbin olo o Sl g soliisad -1YF

(i e 0498 2ol (F i 0599 (1
Jlis b (Fogi 890 (F el (S a9 (F
Fel 438 5T oyt Ui gl 9 570 yined o311l (635 3 Jlonds dilaie iliasly abrgma alaf 35 —1YD
SIS Sl s (¢ s lasas (6 g Sylag (Y il 4 ()
il 0 o3l (g Y iy @l 515098 Liliwl (gl I (gla gld jom 2l et le gl Y 50 IYF
S Y steb (0
ey eay ol pas (F el s Slar (F
Sanal 0313 3 1! D 0 51 bt 8390 IS 33 a5y Sl & 5 i g 02lhiinsd 1YY
Poigh 2,50 >yl (F Jhws by (S (¥ Pt 030 (Y £ pae ()
Caslosyy cyltl 38 aplalyis wiluin 135 5598 AR 50 gL s At (530 Sonihin (sl o —VTA
Errsi g (S e i (T S A g E i e (]
G55 o oM gyl e (F 3pligr g Epia pas (T

o ol guly ol U 51 it JM90l 51 (gl 0 Az 50 ppdliws B9 B (69 1 oled slaayle pi TR
Iﬁi'....lh:,_.e 483 J.:rljl l:f (J;L.‘L.!. Uii“d’.;-u_lj,.} 'ﬂ! L_l_,-gi-:“'u"'“"‘)j":‘ I:T I_E'{""'.ej b‘],.}{ll

oo i Daan albejen as oliay i ) olpl g e Jled ddliie jo adly lkele Glas ad e 1T

il !.f;""“"l-r"n
Py 5 pyd slae g0 (F py® 99 5 Jal 8590 ()
ps 5ye0 1o B Jol 590 (F (LAY pgo 590 51 i o Jal 590 (F

o el f U Ldle

¥l auts Sl 1y gl gt (Ll Al pl 514 g5 0l calad algl 1 5 e ad 1T
asclis gl 4 (F gaslr 43 (F g J5 (Y ligm J5 (1
Fiamn! s bl olide o108 31 vand o i (5 slone (gblis as gamma 30 (Jlan) sl jlgro LT 1YY
VF-AY (F Yo -9 (¥ A=Y (Y Y=Y



VA amie 408F umuuhmh

foa| pin o do ool ol a8l dd jae B S cladlaie po aildle Sadk ol e
oo (F Toe (¥ Toe (T Yae ()

(s (et lg! (T e il ()

S o (S (F Jli b (S (T

sl (g 2 2 U el 39 meto 5lag 5l 39y glailis (Ll glaacil & slad b
ORISR P el (g, S ()

| Al Dlad ez (F il gy gloladl (Y

e 080 plad | Lol gle msll 3l Jlaw | maliey g dudal glaeaSes 4o 3 ponl +u|..hl; g ililges 8 5 sl
gl oo jleodias o1 edllpm 050 51

o (Kiwanyl (F sle Sabor Frgopgs (T (S a oy ()
bl (o Iy (Ll alrgams alad 1 aisd Col) (g lonn (o8l 4y jaun g jlano (5981 51 IR al> o
Pl st

il ol ai (F a9y e B (T Sy (T Uy 5 )

il plaf i Il diilaio ;3 Ligs b 5 @3l ob sl g lis Abams

45 ol (F Gy s J 3ol 43 (¥ adsie 5 ()

il o 2l ilialy abgzma oS (65l 3 ecyr salipmt 50 Fbagi ST 0590

aela al (F ad gy pa 8 (Y gyl 4 (¥ bgus Y

Tl ol 2319 o el p diilais pla )30 e 5 (pilKe CopaBga

s Jho (F Fa (T g (¥ St ch

Ol 03,5 U501 15 0500 plas saled g 0T (oo spdogal Sl Abgzs g o 5 Sligd

jail g el al (F st (T ke (T isalzea ()
! o bl 0 31 st S IS nlgd g 0T gl 5 b (3 giliond 33

s o Sy (F Ug (7 dee (Y wals ()
Yol Fn 58 0590 My S yxe s foge 8 e 50 gVl Jliwly abgxe

¥ (F Y ¥Y V()

il 00 adly (0 il alllais plaf 5o Ligeas i (liwls abgmms (80 nniige

S5 g (F Jlos (¥ RN Fpo
ol T slacals )b o)l it (bl dy Jolad oo peillipm Eu0U 51 g (bl ly90 plasys
Sogs aidly

Al Saan b (¥ Srgi 0599 ()

S e g (F S e AT

il 2090 gl Ugannm 0599 (6 3w 53 Led e ' S

& Lh . a3g 39l (Y (5l - a8 ()

n.}jj.;il — ey {f \.E.HEU - n.jgjjl {"I“

-iry

-\YF

]

-\YF

-y

-1

-1¥e

_\F.

-1¥y

-VEY

~1¥Y

-\FF

V¥&

-1¥¥



V4 ammio 408F L,ulhb@hhuh

Pl pIaF ooy il oy iz gbolin 8 ( reas jlailgudin) Lowas pas
ol (DL G g S5 355 FsT (il w2 O

el 5295 o Jlad g (s 5550 B il ey (T

wanel b 6le 0B Gt g glmd s gd o glndsT il Jled (F

ol Sz gk phes e gz g Gees laigaly (50 0 Gl Ll Jled (F
il 8l saliil o LS J8 adgfoaul) 3 ja0e S jpods g 6390 5 leme 000 cabigme plad 4o

Sy J5 (Y e O

acha pl b5 (F A e (7

Tl digh S & by o Jlgea plafinsl o o pidn aifbo pl 0 pulilipbinly sla2gls guls ol
2 ity 2 ()

Sgs (F JuE

Fgd g0 ool o il F U 51 A 58 (2090 Az gl (SlgSIL) (S s POl

cills § L (Y St g il ()

EIJ‘”“LQJ"SJJU‘.'E.A.H.EU: hﬂ#gb}ﬂ:bﬁh{r

“1FY

-1FA

V¥4

. 1.5



408F

kit Ly




